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Polymeeriteknologia II

NMR:
(mm) = (mmm) + 0,5(mmr)

(1) = (rrr) + 0,5(mrr)

(mr) = (mmr) + 2(rmr) = (mir) + 2(mrm)
(mmmr) + 2(rmmr) = (mmrm) + (mmir)

(mrrr) + 2(mrrm) = (rrmr) = (rrmm)

(mmm) = (mmmm) + 0,5(mmmr)

(mmr) = (mmmr) + 2(rmmr) = (mmmr) + (mmurr)
(rmr) = 0,5(mrmr) + 0,5(rmrr)

(mrm) = 0,5(mrmr) + 0,5(mmrm)

(rrm) = 2(mrrm) + (mrrr) = (mmrr) + (rmrr)

(rrr) = (rrrr) + 0,5(mrrr)
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Vakiot:
R = 8,3145 J/(K mol) N,4=6,022x10% mol™ g =9,80665 m/s’
0°C=273,15K 1 bar =10’ Pa

Moolimassat (g/mol):
H 1,008 C 12,011 N 14,007 O 15,999

Al 26,982 | 35,453 Ti 47,867 Zr 91,224



